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HERstRMY HAHE BE2e/(2sL22/235HH) 80,582,457 110,891,998 /30,309,541
47,303,006
5,978,000
4,902,169
5,398,367
17,000,915

A S o

E3HMHE+=FH 67,331,170 61,440,297 5,890,873
46,739,470
3,576,970
5,360,567
11,654,163

M A &

EHE+EHIF=8 39,000 40,000 A 1,000

201 LEH2HH| 10,000 10,000 0

a]] 10,000 10,000 0
gh4=EH 10,000
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202 Oddl 24,000 25,000 A 1,000

01 | 24,000 25,000 A 1,000
HE2+=EbI =80 24,000

e 5,000 5,000 0

&l 5,000 5,000 0

L= 5,000

= IHXE 2 ME = 53,307,687 46,497,035 6,810,652

46,739,470
6,568,217

o

307 2120l & 200,000 0 200,000

140,000
60,000

o

02 2ItBAE X 200,000 0 200,000
SADtS 2 G SE I A 100,000

70,000
30,000
OS2 A9 2LEE ALY 100,000
70,000
30,000

SRR

oW

403 XX HSA=201H 53,107,687 46,497,035 6,610,652

46,599,470
6,508,217

o

01 TUXIEHMAZE = 53,107,687 46,497,035 6,610,652




A 22
HH: MESSFLY HAHR B2l (2L 22 /235HH)
&t 23 ME=ZHI (etel: =3
_ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@,‘;OH Hlw &2
O2VXF 2 e+ 53,107,687
2 46,599,470
L= 6,508,217
SNEESTHES 2,500,000 2,680,000 A 180,000
403 X SHMSAH201H 2,500,000 2,680,000 A 180,000
01 XXSHA2LE 2,500,000 2,680,000 180,000
O=SXH2sHES 2,000,000
O DN H A ALY 500,000
SXFHSHWES(01Y) 6,484,617 6,784,757 300, 140
== 4,988, 167
L= 1,496,450
403 XhXISHH S XH2 0l ® 6,484,617 6,784,757 300, 140
£ 4,988, 167
= 1,496,450
01 XXSHA=LE 6,484,617 6,784,757 A300, 140
OSXNE23HE>(01) 6,484,617
= 4,988, 167
== 1,496,450
SAFHSHHESZEE(0/Y) 532,000 512,000 20,000
== 372,400
= 159,600
401 A& HI L2 532,000 512,000 20,000
£ 372,400
= 159,600
01 Al&H 528,200 508,200 20,000
OEXNE2ME+HIH 528,200
= 369,740
== 158,460
03 AlZ =204 3,800 3,800 0
OEXNERFMES S 3,800
= 2,660
L= 1,140
S =sE s 200,000 200,000 0
403 XXM SA=01d 200,000 200,000 0
01 XIXSHMA2LE 200,000 200,000 0
ORsMASES 200,000
ST S XA A S 4,057,866 3,713,000 344,866
pJ 3,576,970
= 480,896
207 o1 RO 100,000 0 100,000
pJ 70,000
= 30,000
01 SIS 100,000 0 100,000
D2 M S/ASHH B =S H I XS AR 100,000




22X 23
M MESS RN HAHE B2 (2L 22/25H)
Ce: 2} MHE=FHI (&9 ®M
_ _ AT
2N -3 - c2(3H) - NEME - HES Ol &F2H ‘Oﬂ/i\_Fo” Hns
J| 70,000
= 30,000
308 AXIHMSOIA 602,995 0 602,995
J| 534,300
= 68,695
01 XXSHHBIAEEZS 602,995 0 602,995
O XA A S X 22 602,995
J| 534,300
< 68,695
403 XXM SK=201H 3,354,871 3,713,000 A 358,129
J| 2,972,670
= 382,201
01 MXISMAESE=X 3,354,871 3,713,000 A 358,129
OS2 M S L RIA A RS 3,354,871
J| 2,972,670
= 382,201
SN2 HEMAIAE 2= 200,000 500,000 300,000
403 XXM SK=201H 200,000 500,000 300,000
01 AMXSMAEE=X 200,000 500,000 A300,000
OSXNE =S HEMAIA RS 200,000
S HY R EYBRA 202X /IS 10,000 5,000 5,000
307 QIZtol ™ 10,000 5,000 5,000
05 oIzt e=2 10,000 5,000 5,000
O ML REYIRALF2DD =N} AS 10,000
2o Es X , 117,547 2,006,761 110,786
= 63,536
J| 1,325,199
= 728,812
SSMESKAFA 14,000 25,000 A 11,000
201 LEt29H| 5,000 10,000 A5,000
01 AtR22|dl 5,000 10,000 A5,000
et H| 5,000
OZIMESKNNIFIAMNIESHIS 5,000
202 OfH| 9,000 15,000 AB6,000
01 2LH0 bl 9,000 15,000 A6,000
(23 HES K=& 9,000
S X0 ESH X 36,000 40,000 A4,000
308 XAXHMSOIN 36,000 40,000 A4,000
01 XIXSHHBIAEEZS 36,000 40,000 A4,000
O3 MA20 &8s X 36,000
2RI L2 20,000 20,000 0




22X 23
M. MER3A0 MAHE B2=22| (2L 22 /25 M)
e S2SMES XA (&9 ®M

S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2
= 20,000
308 AHXIEHXISOI A 20,000 20,000 0
= 20,000
01 AXSMIMNEEZ 20,000 20,000 0
O=Z2K a2 20,000
= 20,000
SESHEsSE2AdMM RS 1,255,439 1,331,761 NT6,322
J| 1,046, 199
& 209, 240
308 AXIEHHI SOl 1,255,439 1,331,761 NT6,322
J| 1,046,199
& 209, 240
01 XAIXSHMIAEXZ 1,255,439 1,331,761 NT6,322
[(EZR2SXI3 Mot A H| & X 897,840
J| 748,200
== 149,640
O23MsE22H K& 357,599
J| 297,999
== 59,600
lE0ls NESSIME WA 24 40,000 40,000 0
308 MXISHHSOIN 40,000 40,000 0
01 AXSMINEBEZ 40,000 40,000 0
OOESHNSEINEUNE2S 40,000
A=3I12el 310,000 550,000 A 240,000
307 @IZtol & 310,000 550,000 A 240,000
02 QIZtAAE =X 310,000 350,000 A 40,000
OZB=FLEINGASUAINHIMEAIS 160,000
RESPIEA=D] ESPAE:] 150,000
S HAAI 2 ESXR(EE) 398,572 0 398,572
J| 279,000
= 119,572
307 2I12t01A 398,572 0 398,572
J| 279,000
& 119,572
02 DIZ2tAAMS X 398,572 0 398,572
O HAA 2 E SRR ALS 398,572
J| 279,000
= 119,572
S Ee SAIRLY o1AHH| 43,536 0 43,536
= 43,536
308 XMXIEHHSOIN 43,536 0 43,536
= 43,536
01 IXSHEMNBEEZ 43,536 0 43,536
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&t 2 MESKHA (ctel &
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ol AF o8 HwsZ
(RS H22SAU2 22| 43,536
2 43,536
LSS A 1,155, 140 1,081, 140 74,000
2 500,000
= 37,800
== 617,340
PHEHSSWNEEA 15,000 25,000 A10,000
201 Yer29| 5,000 10,000 A5,000
01 ArR2r2/H] 5,000 10,000 A5,000
TR =2 5,000
OFERAMANIFIMNRPESHIS 5,000
202 Odtl 10,000 15,000 A5,000
01 2ol 10,000 15,000 A5,000
OREEstMX =80 10,000
L2 THBIHSBAHOI) 49,140 49,140 0
== 37,800
== 11,340
308 XiXIEHHISOIA 49,140 49,140 0
== 37,800
L= 11,340
01 MXEHMIAELS 49,140 49,140 0
OS2 HBMHBAH(01L) 49,140
£ 37,800
= 11,340
PHSHIWEZRANSK 326,000 292,000 34,000
308 XiXIEHHISOIA 326,000 292,000 34,000
01 UHXSHBANEXS 326,000 292,000 34,000
ORERIMERNSK 326,000
FERIMERHA XA 30,000 30,000 0
308 XIXIEHHISO0IH 30,000 30,000 0
01 IXSHBANEES 30,000 30,000 0
OFRSEMESEMAA 30,000
BIOHE ALY K| & 65,000 15,000 50,000
308 XIXIEHXISOIH 65,000 15,000 50,000
01 UHXSHHBAEES 65,000 15,000 50,000
O SXE =01 SHHAHI X & 15,000
DRSS LAS YA 50,000
S TH O EXI B X 20,000 20,000 0
403 XX SHHS K01 20,000 20,000 0
01 XXM = 20,000 20,000 0
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2N -3 - c2(3H) - NEME - HES Ol & oK 'oﬂ/'\_FOH HunsZ
235 H LSS 2o E X B A X 20,000
RE2S AL NS 2 AL 650,000 650,000 0
= 500,000
[ 150,000
403 XX SHHSA=201H 650,000 650,000 0
= 500,000
[ 150,000
01 RXISHIHEEX 650,000 650,000 0
DL WEL DAY 650,000
= 500,000
[= 150,000
SN FHBL AP 2L 2,900,600 539,000 2,361,600
z 948,000
[ 1,952,600
S MR HZIL AR AL FA 25,000 35,000 A 10,000
201 Yt 15,000 20,000 A5,000
01 AtR22lH| 15,000 20,000 A5,000
(Y et=2H| 15,000
O MANHHILAR AL FIANRESHIS 15,000
202 Oit] 10,000 15,000 A5,000
01 =2 10,000 15,000 25,000
O MAEHZIL AR 2L FE O HI 10,000
SHUEAL R 2H 75,000 80,000 A5,000
201 Lt A 75,000 80,000 A5,000
01 AtR22/H 75,000 80,000 A5,000
o294 75,000
Oz M2+ LIAMUIS 75,000
SN FHSEAHAG LMD E Ot 100,000 100,000 0
308 KXICSHHESO0IA 100,000 100,000 0
01 AXISHBABREZ2 100,000 100,000 0
OGNS MF=HAMNHAIZG LN 2| =0 100,000
SN E A H =2 100,000 50,000 50,000
201 Ler2Ay| 100,000 50,000 50,000
01 AtR22/H 100,000 50,000 50,000
O et~SH| 100,000
OSIMWAHPAX =2 100,000
SEEYS2AAHE XA 1,374,600 0 1,374,600
= 948,000
[ 426,600
403 KX SH S KH=0™ 1,374,600 0 1,374,600
Z 948,000
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M S
HE: WESHRMO HAN BEU2(SHLBY/25T)
S9: RSHNZHYUH DL (Er9): &8
_ _ _ Muo
SA - SR(E) - HRAY - B Off &+ o4 Sl e HDE2
Lol E2 A EH ZALXDBF = 200,000
OIS E 2T &4 AL T 2 300,000
Lot ==2st a2 300,000
2ot A 705,000 369,500 335,500
SRS E ALY 500,000 100,000 400,000
201 LEt=gH| 300,000 0 300,000
01 AtR2teld] 300,000 0 300,000
mEEE= ] 300,000
O SERAUUANMES 300,000
307 2120l & 200,000 100,000 100,000
02 BlAAHEX 200,000 100,000 100,000
OS2 23 AME X 100,000
OREE3MIIESAEY 100,000
EstraeE X 205,000 250,000 245,000
308 AXIEHSOIA 205,000 250,000 245,000
01 MXMBLdE2ES 205,000 250,000 A45,000
BEELIENEP LT R 30,000
DM THStayX & 25212 4 B 31 60,000
DO & &2 Fot T 50,000
0120118 S & HEXPOIH = 50,000
DX SHASMIZILY 15,000
ANESEAZE 6,373,000 45,455,300 /39,082,300
& 5,030,000
= 1,343,000
FuRHIPD AL = 14,000 25,000 A 11,000
201 Ler2 | 5,000 10,000 5,000
01 AtS22ibl 5,000 10,000 /5,000
mEEES=T] 5,000
ORDBIANLALZTALSBHIS 5,000
202 O 9,000 15,000 26,000
TIENETI 9,000 15,000 6,000
OFw2st2 i ArE =2 9,000
BFAANEIEAIEE 6,359,000 7,809,600 A 1,450,600
z 5,030,000
= 1,329,000
403 XXM SA=01H 6,359,000 7,809,600 A 1,450,600
= 5,030,000
S 1,329,000
01 MXISMAZ2E = 6,359,000 7,809,600 21,450,600
OB =AM =AXE 6,359,000




A 23T
M MSEsRae HAE 2zl (2L 2Z/25HH)

Sl HARSTAES (e @8
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2
= 5,030,000
= 1,329,000
HY2AZHI (23 D) (I1EH/IIE) 34,400 45,300 210,900
Jl=2&Hl 34,400 45,300 210,900
Jl=&dl 34,400 45,300 A 10,900
201 et 25,000 29,300 A4,300
01 AtR2teld] 25,000 29,300 A4,300
(e Et==EH| 15,000
OJIZMNEESS 15,000
E==g:] 10,000
O2HAIE ZRFA S A 10,000
202 O4H| 9,400 15,000 A5,600
01 WY 9,400 15,000 5,600
O23t ALY 2 R =8 O I 9,400




